光學作業 應物三甲 0932387 梁展華
Problem 12-15

Show that the spacing d of the fringes in the formation of a holographic grating, as shown in figure 12-7, is given by 
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, where 
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 is the angle between the coherent beams. If the beams are argon-ion laser beams of wavelength 488 nm and the angle between is 120
[image: image3.wmf]o

, how many grooves per millimeter are formed in a plane emulsion (n = 1) oriented perpendicular to the fringes? What is the effect on the fringe separation d of an emulsion with a high refractive index?
Sol:
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相鄰槽面的光的光程差是d sin
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因為是來回反射的光 所以光程差變兩倍

因為繞射的中央亮紋與干涉的第一亮紋重疊

所以 2 d sin
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 EMBED Equation.3  [image: image9.wmf]l


得 
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b. 在介質中
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   當折射率n增加時，則條紋間距d將會縮小。
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